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HTIT &h: AT SEx™eh dl
PART—A: GENERAL AWARENESS
1.  Who among the following was not a |1. frlaf@d & @ @i AR Hiqem=

member of the Drafting Committee of £ yregor AT FT GeeT FET U
Indian Constitution?

(A) B.R. Ambedkar : (A)  dr3T. HEsH

(B)  Alladi Krishnaswamy (B) 3fecrdl HSUTEarAT

(C) ~ Rajendra Prasad ‘ (C) Toleg 94G

(D) Gopalaswamy Ayyangar ' (D) IMUTIEATHY IR

2.-  Which ~ was described by. 2. 3T m'maqégm J P gfeu=s &1

Dr. B. R. Ambedkar as the ‘heart and ' wear 3R AT ST AR

soul’ of the Constitution? ' ‘

(A) Right to Equality o (A) FHAAT &1 AHR

(B) Right Againsf Exploitation (B) oISTT & g IMER

(C) Rightto Const{itu’tional Remedies (C) R sTERt 1 JER
(D) Rightto Freedom of Religion _ (D) ¢&3F fr TIdTAT FT VPR

3.  Who appoints Secretary General of the 3: ARgAT & AggRa & ﬁgﬁ—?—r @i

. Lok Sabha? , e T
. (A) Deputy Speaker . (A) IqTegeE]
(B) Speaker (B) gFar
(C) President | ' (C) * Irseufy
(D) Leader of Ruling Party ‘ (D) HeaTee <ol F T

4, The Governmént of India Act, 1935 was 4, IR TR IEId, 1935 g

- based on ’ ' IR A
(A) Simon Commission : (A) aEaEa a;ﬁam.
(B) Lord Curzon Commission (B) &S ol TN
(C)  Dimitrov Thesis (€ R dw
(D) Lord Clive’s report (D) @S Famsa Hr ﬂ'cﬂ'é'
oo 3 ‘
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5. The method of impeachment of the B AR & Tegafd TN fafey
President of India is adopted from Fgl & NIATS M5?
(A) USA (A) 3R
(B) UK (B) T&
(C) USSR (C) wifaad FT
(D)  France (D) wiE ,
6. Who among the following was not a |6. fefaf@a & @ @i 3_?“? 1946 H
member of the Constituent 'Assembly' TR GRYT THT &7 GG AeT I
established in July 1946?
(A) Dr. Rajendra Prasad (A) = el vare
(B) K. M. Munshi (B) uA. M
(C) Mahatma Gandhi (©) ;F{g]a:n amrefr
(D) AbulKalamAzad (D) S FHellH TG
7. Where was the "-Azad . Hind Fauj 2 ‘Ao feeg wisT fr e Far s
founded? ' i | i
(A) Thailand (A gz
(B) Britain \ (B) foree
(C) Italy (C)  seelr
(D) Singapore - (D) iil'?’.II‘I}
8.  The Seven Pagodas of Mahabalipuram | 8.  HgMellqA & Hd TeNET fFed c@w
are witnesses to the art patronized by WS el & a2
, (A) Pallavas (A)  geord
' (8) Pandyas (B) uszar
(C) Cholas (€ <o
(D) Cheras (D) =R«

e
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9.

10.

11.

12.

13.

the services of labour, land or capital in

a country is called
(A) gross domestic product

(B) national income
(C) gross domestic income

(D) gross national income

ANO07CGLT2023 HTIT & ATATT ARG AT

‘Japan Parliament is known as 9, ST &Y A &Y gl Sar 8

(A) Diet (A)  zrEe

(8) Dail (B) ¥y

(C)  Yuan (C) g3

(D) Shora (D) iR

Who was the architect of Taj Mahal? 10. TSl HEel &I dREIHR hial AT?

(A) Ustad Ahmad Lahouri (A) 3FdTE 3EHAE SRR

(B) Norman Foster (B) &ATHA BRI

(C) HenryIrwin _ (C) gadr Rfa=r

(D) ShahJahan (D) emgTEr

Indonesia was a colony of which of the 11. 33’[;’{’['37‘111 TfaflT 7 3 g S &1
following countries? SafSder am

(A)  Spain (A) =

| (B) Dutch (B) == |

(C) Portugal (C) gﬁ?ﬂﬂ'

(D\) Belgium (D) afesras

Which of fhe following is paired 12. PARRadgaasagarTeag als
incorrectly? Sirer TR &

(A) Pannalal Ghosh — Flute (A)  deetreTe B - S

(B) Guru Gopi Krishna — Kathak (B) 7% My FwUT - FAF

(C)  Nikhil Banerjee — Santoor () =fEe T=1if - q:[a\q'

(D) Nandalal Bose — Painting (D) Fcarer 99 - RESRY

The sum total of incomes received for 13. 3#, ;Lﬁ-'r ar q_\ryﬁ # Fat F QAT

mmwgﬁ{mm%:

(A) el e 3cUE
(B) I~ I
(C) @ehel B AT

(D) e TSI FATS
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HTIT & AT SRRl

14.

15,

- 16

17.

Total internal reflection cannot take
place when light goes from

(A) glass to water

(B)  water to glass

(C)  water to air

(D) glass to air

Asbestos is formed of

(A) Calcium and Magnesium

(B)  Copper, Zinc and Manganese
(C) Lead and Iron

(D) Calcium and Zihc '

A passenger standing in a bus is thrown

" outward when the bus takes a sudden
~ turn. This happens due to

(A)  outward pull on him
(B) inertia of motion
(C) change in momentum

(D) change in acceleration

Electric current in a metal wire is due to
the flow of

(A) Electrons ,

(B) Protons

(C) lons

(D) Holes

14.

15.

16.

17,

qof 3aRe Wad= =gl g bl Sq
YIS ST YA &Il o

(A) g & ST @ AR

(B) Sfer & I I AR

(C) o & arg AT 3R

(D) =g & ag # AR

TEECH F1 AT g &
(A) e 3R AvhRmw
(B) - aiaT, T 3R Foweler
(C) drar 3R et

(D)  ¥fomrrr 3k form

S 99 3AlAd Hool § o 99 7 @a
T AT 3R P ST ¥ v s
FROT gIdT &

(A) 38 W sl Wwe

(B) afahIsTsea

(C) AveH & gREds

(D) cRor & uREds

Ui & IR # fegd uRr fras yag
¥ grar g2

() g

(B) =

(€) mer

(D) T
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18.

19.

20.

21,

Clothes keep us warm in winter because
they

(A)  supply heat

(B) do not radiate heat

(C) pfevent air from contacting the

body

(D) * prevent the heat of the body from
escaping

Tesla is a unit of magnetic
(A) Flus.(

(B) . Induction

(C) Moment:

(D) Field

The splitting of white light into its
components is due to \
(A) Reflection
(B) Dispersion
(C) Refraction

(D) Transmission

Which of the following metals is used

for the manufacture of heating

elements provided in electriciron?

(A)  Nickel
(B) Chromium
(C) Nichrome

(D) Tungsteh

18.

19.

20;

21.

FUs gH iEat & 1 wa § w=ifF

CH

(A) At fr 3mqfct

(B) arHf fahror o &

(C) gar & R & ¥9F & 3= F
A

(D) erR &r At FT AR AberA &
Uw

e ST A T 5w
(A)  wrererd
(B) oot

(€) AEe

(D) thres

@T S F 3EF GeE # e
(A)  YwelFa=
(B) RERE

Q) Yo
(D) Eafee

ffaf@a & @ fFe g &1 3w

.ﬁ?;gasmfrﬁwumaaﬁa;

fAstor & fore frar Smar 82
(A)  fereher

(B) wIfAgs

(C)  fosmra

(D) &Ireeat

@ Scanned with OKEN Scanner



193/260

A-12/4/2023-DD(HQ)-TPT-TPT

169376/2023/0/0 DD(HQ)-TPT

T &: FTATT SATETRh AT

Part-A: General Awareness ANO7CGLT2023

22. When the barometer reading dips |22. g a#Ax @ AfET =S HA ar
suddenly, it is an indication of ST &, ar SgeT Thd 8
(A)  hot weather (A) T HgH
(B) calm weather (B) end HigH
(C) Storm (C)‘ 3Tedr
(D) dry weather (D) s Algd

23. Iceis packed in saw dust because 23. 9% @ e # zgfav 4« fhar Srar

g it
(A) saw dust will not get melted easily (A) T HEEN A Al e
(B) saw dust is poor conductor of (B) SRTET FSAT T FTelh gdr &
heat D '
(C) saw dust is a good conductor of (C) gTIET FSAT S 3TOT A0 &
heat ‘ :

(D) saw dust does not stick to the ice (D)  &rar % W fAYear 76l o

24.  Who is first to introduce the concept of | 24. "EARACET" s F 3ifrd wA g
Cold War, ©coining the term. fig T & HEUROT FT =TT I
"Stereotype”? ' o q%?.‘r e e 42 >
(A) Attlee (A) weelr
(B)  Paul Kennedy (B) drer Fad
(C) Walter Lippmann (C) arex s
(D) Thomas Friedmann (D) ourH" HEAT

25. Who is author of the book ‘The Politics' [ 25. ‘= uiffafesa 3% TFEASH S
of Extremism in South Asia’? s T e ¥ dEw B 8
(A)  Shashi Tharoor (A)  9rfr U=t
(B) Kushwant Singh » (B) farq?r Rg
(C) Nirupama Rao (C) fAT9AT Ta
(D)  Deepa M. Ollapally (D)  &mur TH. INeaTeall

26. Which is the India’s first newspaper? 26. HRT HT YgT FATWR UF HieT IAT 87

(A) Hindustan Times
(B) . Indian Express
(C). Deepika

(D) Bengal Gazette

(A RgEae e

(B) sfeuw uFmaw
(C) &fter
(D) Samer ISIC
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27.

28.

29.

30.

Which treaty was signed on 28 June
1919?

(A)  Vienna

(B) Geneve

(C) Versailles

(D) Pearl harbour

Wallace Smith Broecker is the man who
coined and popularized which term?

(A)  Post truth

(B) Green revolution

(C) Global warming

(D) Sustainable development

Which one of the following divides India
into Northern and Southern parts?

(A) Equator

(B) Tropic of Cancer

(C) Tropic of Capricorn

(D) Arctic Circle

Which one of the following countries

shares longest border with India?
(A) China

(B) Bangladesh

(C) Nepal

(D)  Pakistan

27.

28.

29.

30.

28 o1 1919 @ hd G T gEAER
R o &7
(A)  fager
(B) farerar

() adE

(D) udf gt

- gro foAT SR fh weg #r fehd

IR AERT FAEAT?
(A) W T
(B)  afier YaterareT

(C)  voEer arfder

(D) TETdT éc—orqﬁz_

—_—
faonfaa aar &
(A)  sprea Y@

(B) & @

(C) W%@T%mﬁﬁéﬁﬁum
(D)  3mHfes ged

PrfafaT & & #iF & & AR &
(A) =

(B)  qiemeRr

(C) surer

(0) fdreTT
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31.

32.

33.

34.

In which one of the following regions

does the Indus River originate?

(A) Ladakh
(8) . Lahul
(C) Nepal
(D) Tibet

Which one of the following places is

famous for production of railway

coaches?
(A) Nasik

(B) Kapurthala
(C) - Kolkata

(D) Bhdbaneshwan ‘

The term ‘Operation Flood’ is associated

‘with

(A) Blue Revolution
(B)  Golden Revolution

(C) White Revolution

(D)  Yellow Revolution

Which is' the only Union Territory to
have a High Court of its own?

(A) Chandigarh

(B) Delhi

() Andaman & Nicobar

(D) Lakshadweep

31.

32.

33.

34.

PrTarae & @ e 8 & Ry A
T 3EITH Fiell 67,

(A) =™

(B) wmgleT

(C) St

(D) fosad

ﬁmﬁ@a#ﬁ#rﬂmmm
FrEt F 3caed & AT 9Rg 872

(A) i@

(B)  FqRerm

(\C) RrerhTaT
(D) - sr@eRaR

9

'a?q%arrrm oree; forad Teafa g2

(A) el HifY
(B) wafotH wifa
(C)  <da wifa

() <t

THAE Hg g v S e

3T AT §

(A)  <EnTe

(B) fawelr
(C) 3z 3R PFER
(D) eI i

~

10

i
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35.  Aperson to be qualified for standing in a 35.  U9rd gAd # T3 g9 & v aeg
Panchayat election must have attained afRd 1 3 fhaeh e o

the age of >
(A)  21years (A) 21 a¥
(B) 18 years (B) 18 a¥
(C)  25years (C) 25ay
(D) 30years (D) 30 &y
36. Cattles are capable of digesting cellulose | 36.  Fasfr 3T ZaRT WU I 9 g
presentin the grass and / or fodder that - 3R/ AR F Ao Aot F 9
they eat. This ability is attribute to the ) - " 2
, o I TeTA gt gl I§ &HAT
(A) presence of cellulose digesting (A) w7 & dogellsl I dTed
bacteria in the rumen Sharorsit 97 ety
(B) production of cellulose by the '(B) TAS @RI a@a‘m T 3c4Ige
rumen ~ .
(C) acids present in the rumen (C) wAa & 3:{’?3[‘\?:: g
(D) prolonged retention of cellulose in (D) AT H m FT A4 FAEAT
the rumen qF T T .
37. Which of the following 'has the most 37. Aef@a & O Fadr deq a=g
penetrating power? ’ Ta 30H §7?
(A) a-particles (A)  o-suif
(B)  B-particles (B) p-wur
(C) y-particles (C)  y-apor
(D)  All of the above (D) 39 @alr
38. The blackboard seems black because it 38. soodElm safaT e fewrs 2ar &
(A) reflects every colour (A) & T T WEtdd a=ar &
(B) does not reflect any colour (B) frdy oY L7 A Wafdd =gr
(C) absorbs black colour (C) =hTer /T & W@ T &
(D) reflects black colour (D) el 1 @ Wiafda ¢
> 11
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39. What s the pH of pure water? 39.
(A) (A)
(B) (B)
(C) (C)
12 (D)

(D)

40.

responsible for the global warming?

(A) -

(B) Methane
(C) CFCs
(D) Slacked Lime

41.

more than in dry air because the moist

air has

(A)
(B)

(C)
(D)

42.

(A)
(B)
(©)
(D)

acid fumes

Which one of the following is not

Carbon dioxide

The velocity of sound in moist air is
less pressure than dry air
‘more density than dry air

more pressure than dry air

less density than dry air

The term brown air is used for

industrial smog

sulfureous smog

photochemical smog

197/260

$TT9T &: VAT ATy

nga’a'a?rpHﬂTﬂﬁﬁﬂTBTaT%?

1
7
5
12

40. Traf@a & ¥ Tead artde & fav
foFACR 6T §

(A)
'(B)
(€)
(D)

#.
(A)
(B)

(C)
(D)

el SSHFATSS
o |
Hrowar

e T

o

4. @ gaT A Cafel 1 QI YSH gaT A
qeel & I @ § FEifE A8 g

[H G HT JoreTl H FH gaTd
TH AT w Joer A R
e

YF §AT A JoA1 F 31w gaa
a_gwam@rgmﬁamm

42.  FI3 TR UASE H WART had AT

forar STar 82

(A) i@ At
(B)  womwrgzd Tl

(C) ufds g3

(D)  wreYhfAwer FHfT

12
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43. Peroxyacetyl nitrate is a 43.  RFHTRAEET A% UH
(A) acidic dye (A)  3FeirTr 313
(B)  secondary pollutant (B) efacdas wqus
(C) plant hormone (C) urey grAfer
(D)  vitamin (D) faa@e
44.  Members of the Union Public Service |44. gg e Far AT & TeLar &
Commission are appointed by the Prafdq frad garT T S 22
(A) President (A)J regafa
(B)  Prime Minister (B) gemegHAY
(C)  Chief Justice (C) <o affew
(D) Law Minister (D) @It HAY
45. The total energy of an electron inside an 45. W AT & 3T UH SAFcld T G
atom is ' FST g &
(A) zero (A) ==
(B) more than zero (B) <= & o 3ifw
(C) less than zero (C) == & o &7
(D) Infinite (D) 3
46. A perfectly competitive market has ' 46. Us q;tﬁ?-r: gfaradf aoR & ;q‘fa“z 3
(A) only one seller (A)  Saer v fagar
(B) at ‘Ieast a few sellers (B) &H q &7 G fa%ar
(C)  many buyers and sellers (C) % @wier 3k fAwar
(D) firms that set their own prices (D) T Fuferr S I PG TWI
47. In arecession, GDP 47.  #HEY #H,
(A)  Grows negatively (A) FAFRICAS & T d&dT &
(B)  Grows slowly (B) M-t sgar ¢
" (C)  Grows rapidly (C) ashr Ay seard
(D) None of these (D) o7t @ g a1el
o 13
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48.  Which one of the following is not a basic | 48.  FAfai@d F A A T ARAY
feature of the Indian Constitution? Ffaee &7 #or fadwdr TET 87
(A)  Presidential government (A)  GHERTS AT
(B) Federal government (B) THT TIHR
(C) Parliamentary government (C) THEET THR
(D) None of these (D) A9 ¥ HIS el
49. Plants are green because of the 49. frg aviF $T 3uRRUT F FRoT 9iY
presence of a pigment called R AT &2
(A) Glucose (A)  Feraier
(B) Nitrogen (B) =TT
(C)  Chlorophyll () R
(D) Oxygen (D) siferdSTeT
50. ISRO stands for 50. ISRO &r faeaia &7 &
(A) International Scientific Research (A) RS deEe BFBTEIFT :
Organization HoTee
(B) Indian Science Research (B) R e T Harsa
Organization
(C) Indian Space Research (C) TR JHARET IHTHUE oo
Organization ‘
(D) International Space Research (D) I RTET aReT AT TS
Ofganization :
14 o

el
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aTeT @: W gy Mk G

"I @: AT afg AR aF

PART-B: GENERAL INTELLIGENCE AND REASONING

51. If in a code, MIND becomes KGLB and 51. afe MIND fRelY @12 &, KGLB &
ARGUE becomes YPESC, then what will ST & 3R ARGUE Rt @13 &
DIAGRAM be in that code? )
YPESC &1 JI1ar g , d 39§ &I #
DIAGRAM T greT?

(A)  BGYEPYK (A) BGYEPYK

(B) BGYPYEK * (B) BGYPYEK

(C) GLPEYKGB (C) - GLPEYKGB

(D) LKBGYPK (D) LKBGYPK

52.  |If 'eraser' is called 'box', 'box' is called |52. 3gfy 'TER A ‘TlFd FE I g,
pencil', 'pencil' is called 'sharpener' and StFE A7 SR Far ST & SR
'sharpener’ is called 'bag', what will a '
child write with? - T T ST B3 R

' YT FG ST &, A dear fREd
forgem?
(A) Eraser A) @
(B). Box (B) afFd
(C) Pencil € 9er
. (D). Sharpener (D) MR
53. If DEER = 12215 and HIGH = 5645, how 53. 3gfe DEER = 12215 3K HIGH =
i ?
will'you.code, HEELs 5645 &, @ 31T HEEL #1 & #iid
HE?
(A) 2328 (A) 2328
(B) 3449 (B) 3449
(c) 4337 (C) 4337
(D) 5229 (b) 5229
> 15

@ Scanned with OKEN Scanner



A-12/4/2023-DD(HQ)-TPT-TPT

169376/2023/0/0 DD(HQ)-TPT

Part-B: General Intelligence

and Reasoning

ANO7CGLT2023

201/260

T @: T g X T

54.

55

56.

57.

If 'orange' is called 'butter', 'butter' is
called 'soap’, 'soap' is called 'ink’, 'ink' is
called 'honey' and ‘'honey' is called
‘orange’, which of the following is used
for washing clothes?

(A) Honey
(B) Ink

(C) Butter
(D) Orange

Study the diagram given below and
identify the region representing girls
who are employed but unmarried.

F;mplnyf‘d

54.

55.

A AR F HeEe FEl ST g,
G B WA FE S T, W
1 ey T S €, # e
Far o & R UgE d AR e
ST &, ar PeAfaf@a A ¥ #ld A
FU2 tiT & farw e R Sdr g7
(A)  erge

(B) ETEY

(C) HF@A

(D) AR

A o T RF # 3eaIaT HOAR
37 wsfeal @ gafAflcd & ar
&7 & qguie B A FRRA § AT
sifaarfea gl -

(&

‘ - Unmarried

(A)
(B)
(C)
(D)

Four forms of a dice are shown below.

NVhaENRE

In this dice which digit will be on the

surface opposite to the digit 4?

56.

(A) 1
(B) 2
() 4
(D) 5

U6 8 & IR &9 = fe@e aw §)
3 I A 3P 4 & (AT gag «w
aﬁ?rmsiﬁa’mr?

(i) (i)
(A) 1
(B) 2
() 3

(D) 5

The Minute hand of a clock is in
North-East at 4:30. Then in which
direction the hour hand will be at 10:30?

(A) South

(B) North-West
(C)  West

(D) North-East

(i11)

57.

(n)

(A) 1
(B) 2
(c 3
(D) 5

S e i A f og$ 4:30 T
o4 # gl g ar R 10:30 &
uC A g3 e famm o geie

(A)  Zf&yor

(B)  Ieax-ufRas

(€) gfRas

(D)  3eR-qd

16
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58 Inarow of tthrees, atree is 7" from left | 58. i $r ta 4fFd &, UFH U 90 GR A
end and 14™ from the right end. How 7§ 3R @0 oR ¥ 14§ T € B
many trees are there in the row? o gt 4
(A) 18 (A) 18
(B) 19 (B) 19
(C) 20 (€) 20
(D) 21 (D) 21
59, If the time in clock is 12 : 23. Whatisthe [ 59. 3fr ot # @#AT 12 : 23 g aredor 7
time in the mirror? ' qAT T 2
(A) 12:33 ' (A) 12:33
(B) 11:37 (8) 11:37
(C) 12:37 (C) 12:37
(D) 1:23 (D) 1:23
60. Ravi and Priyanka celebrated their |60. My 3R BRET & YHAR, 4 WA
‘wrrlliversaryl;;)nhFriday,l 4bFebru;ry 2005. 2005 ﬁ 39y 'm' qAE| ¥ 36
en would they celebrate their next : o s
anniversary on the same day? feet A aNg )
(A) 2009 (A) 2009
(B) 2011 () 2011
(C) 2015 (C) 2015
(D) 2010 , (D) 2010
61.  Aisthe brother of B, Cis the fatherof D, |61. A B&# & ¥, C, D & Mar g, E, B
E is the mother of B. A and D are At AIRDAME I E CA
brothers. How is E related to C? - T 32
(A) Sister (A)  sga
(B) Sister-in-law (B)  sefy
(C) Niece (C)  srcirsir
(D) Wife (D) gt
62.  Six members of a family namely A, B,C, [62. UH gRaR & ©F W& U A, B,
D, E and F are travell'ing together. ‘B’ is C, D, E 3R F U& & AET & ©
e so of Clt C1 ot T |11 G o e 3w 0 A
of B. Aand Care . ) .
brother of C. D is the daughter of A. Fis et ¥ A 3R C fafea S5 &1 E, C
‘the brother of B. How many male F ooms &1 D, AT A gl F, B A
members are there in the family? aE ¥ qRaR & fhae o7 Geed 4
(A) 3 (A) 3
(B) 2 (B) 2
(C) 4 C) 4
(D) 1 (D) 1
oo 17
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63.

64.

65.

An official meeting is attended by 130
department employees. Of them, 66
drink tea, 56 drink coffee and 63 drink
juice, 27 can drink either tea or coffee,
25 can drink coffee or juice and 23 can
drink juice and tea. 5 employees can
drink any of the three. How many
persons drink only tea?

(A) 21
(B) 22
() 18
(D) 20

P, Q, R and S are four friends. P is
shorter than Q but taller than R who is
shorter than S. Who 'is the shortest
among all? : o
(A) P

(B) Q

(@ R

(D) s

Eight people A, B, C, D, E, F, G and H are
placed as shown in the diagram. All are
facing in the outward direction. If all of
them move anticlockwise to three
places, then

(A) Bis facing West

(B) Eis facing East

(C) Hisfacing North-West
(D) Ais facing South

63.

64.

'65.

T RemE dow H Qe &%
130 FHTE T od &1 39H @
66“@?{’5‘,565\1"@'@%3‘7\?
63 o M § 27 uE AT FIRr
aFd & 25 @A 4 o @ wwd ¥
3ﬁ;23a‘373ﬁrmtﬁm%l
5 wary daf & & Fo o & wwd
¥ fpaey AT Faer a1 91T 87

(A 21
(B) 22
(C) 18
(D) 20

PQR3IRSaIRBATEE P, QT
AT AT R A Gar § ST S A Ater
g1 Tefr 7 e Arer HiT 82

(A) P
(B) Q
() R
(D) s

7 # fGEw 3ear se et A, B,

C,D, E F, G 3R H &t w@r I
T AT AT IR T §1 ARy 3 weh
TG Rl # i Tt W) og ar

(A) B & 7w qfRasr & 3K &

(B) E & faer & wogw

@ H & 7Q Sear-afRaw $r 3R ¥
(0) A 1 7@ af@or #r 3k ¥

18
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In questions no. 66 to 68, a series is given, with one term missing. Choose the correct alternative
from the given ones that will complete the series:

WA HEAT H 66 ¥ 68 aF, UF HEar & 7§ §, FOwH wF ug ovad ¢1 v v Rwed # § a7
T [AFeT T ST AT F Q@ FOM:

66.  SHG, RIF, QJE, PKD, ? 66. SHG, RIF, QJE, PKD, ?
(A) NME (A)  NME
(B) NLB () NLB
(C) OLE (C) OLE
(D) OLC (D) OLC
67. 7,8,18,57,7,1165 67. 7,8,18,57,?,1165
(A) 174 (A) 174
(B) 232 (B) 232
. (C) 224 (C) 224
(D) 228 (D) 228
68. 1,0,3,2,5,6,7,12,9,20 68. 1,0,3,2,5,6,?,12,9,20
(A) 9 (A) 9
(B) 10 (8) 10
) 7 (€ 7
- (D) 8 (D) 8

In questions no. 69 to 73, select the related word/letters/number from the given alternatives:

qorT GEAT 3 69 ¥ 73 O, AT AT Rweul F ¥ YT AIRTITTT FT TAT FL:

6o, 1720:840::60:? 69. 720:840::60:?

‘ (A) 76 (A) 76
(B) 80 () 80
() 70 (€ 70
(D) 74 (D) 74

70.  225:256::289:7 70.  225:256::289:7
(A) 234 (A) 234
(8) 361 (B) 361
(C) 324 (© 324
(D) 432 (D) 432

71. Money : Misappropriation : : Writing : ? 71, &7 gUhYY : : ToEer o ?
(A) Deception (A) o
(B) Mistake (B)  3rercy
(C) Plagiarism € wfefeas TRy
(D) Theft (D) =y

P 19
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72, YTOJ:XSNI:: WRMH: ? 72, YTOJ:XSNI::WRMH :?
(A) valG (A) vaLG
(B) TOJE (8) TOIJE
(C)  RMHC () RMHC
(D)  UPKF (D) UPKF
73.  EIGK:EACY::RVTY:? 73.  EIGK:EACY::RVTY:?

(A) RVSQ
(B) RNPL

(C) RWUY
(D) RMPL

(A) RVSQ
(8) RNPL

(C) RWUY
(D) RMPL

Question no. 74 to 77. Study the given diagram carefully and answer the questions 'where
rectangle stands for business man, square stands for hard working, triangle represents artist and
circle represents singer.

Yo WEAT. 74 A 77. R T 3N F CAWGEF HATA HY A WAl F e & el IA H
3 soaarl safRa &, @it F1 s FR Aged F L, BRI FOER F YAt #€ar § AR

Ied S & Sl Far gl
/ 12 \4
8 \‘\/
9 .

74. What is the number of hardworking 74. VW AgAdl <IIANAAT Y gEar Faar
businessmen who are artist but not ¥ S FaeR o § AfrT g ad
singer? B, _

(A) 12 (A) 12
(B) 8 (8) 8
(c 7 < 7
(D) 9 (b) 9

75. How many singers are hard workers but | 75.  ffgey amas Agady § AfFT FoaaR
not artist and businessman? MR SR T 82
(A) 6 (A) 6
(B) 4 / (B) 4
() 8 c) 8 -

(D) None of these (D) s H |/ FIS 7T

20
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76.

77.

78.

79.

80.

What is the sum of the numbers which

represent only businessman and only
singer?

(A) 13
(B) 12
(C) 16
(D) 14

How many persons have all the four?

(A) 12
(B) 9
(C) 2
(D) 4

A watch which gains uniformly, is -

2 minute slow at noon on Monday and
4 minute 48 second fast at 2:00 p.m. on
the following Monday. What time it
ways correct? '

(A)  2:00 p.m. on Tuesday

(B) 2:00 p.m. on Wednesday
(C) . 3:00 p.m. on Thursday |
(D)  1:00 p.m. on Friday

How many times do the hands of a clock -

point towards each other in a day?

(A) 12
(B) 20
(c 22
(D) 24

A monkey climbs 30 feet at the
beginning of each hour and rests for a
while when he slips back 20 feet before
he again starts climbing in the beginning
of the next hour. If he begins his ascent
at 8:00 a.m., at what time will he first
touch a flag at 120 feet from the

ground?

(A)  4:00 p.m.
.(B)" *5:00 p.m.
(C) 6:00p.m.

(D) None of these

76.

77.

78.

79.

80.

3 GCIAT FT AT FAT § AT had
ST 3R Fad ThF, F AT §2

(A) 13

(B) 12

(C) 16

(D) 14

fordey cafdaal & 99 ¥ IR 82
(A) 12

B) 9

) 2
(D) 4

TE g S AT 7 @ ded g,
AHIR & ugl H 2 Rere e lr g
§ 3R 3T @HER & glag] 2:00 aoF
4 AT 48 AHs o gl gl Ig R
AT GE alie ¥ TordT 82
(A)  FHeTeEaR ET9ET 2:00 For

(B)  qHAR @NE 2:00 a9

(C)  9ar eruex 3:00 aef

(D) NELIN 29gT 1:00 s

o e # ud B gedl e )

T guY il AR FART HIAT 82
- (A 12

(8) 20

(C) 22

(D) 24

UF §el e °HeE dr YR A
30 fic TWedr ¢ IR FT X INA

T &, A 20 Fie S s Srar
¥ 3 amTer HE #Y A A RO

21
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Question no. 81 to 83. In each of the questions below are given three statements
three conclusions numbered |, Il and Ill. You have to tak

followed by

e the given statements to be true even if

they seem to be at variance from the commonly known facts. Read all the conclusions and then

decide which of the given conclusions logically follows from the

commonly known facts.

WA WEAT. 81 ¥ 83. A Ru 7w v+ weA # e Fywr 3R 39F 919 |, I 3 N FHR
a?#ﬁnarﬂévwa‘lmmmmﬁmm%,maﬁam.mma
Brer Wl A1 &1 Wl Psast F 0¥ sk AT @ &t B Ru ae Gt & F Fi 7 q@ed
A qEt F AR W §C R T FUA F AfE T F ATECT FA

W:Hﬁﬁﬂ@ufwgl

81.

Statements:

All dolls - are windows.
All bottles are windows.

All cars are bottles.

Conclusions: I. All cars are windows.

(A)
(B)
€ .
(D)

82.

Conclusions:

(A)
(B)
(€)
(D)

Statements:

Il. Some cars are dolls.

11l. Some windows are cars.

Only I and Il follow
Only Il and Il follow
Only I and Il follow

All follow

All snakes are trees.

Some trees are roads. All

roads are mountains.

I. Some mountains are
snakes.

Il. Some roads are
snakes.

Ill. Some mountains are

trees.

Only | follow

Only Il follows
Only lll follows
Both I and Il follow

81.

82.

given statements disregarding

diaer et &1 @ aR

forsed: |. w3 It fEsfRar &

(A)
(B)
(€
(D)

Il. & HX AT &l

. & st a1 ¢
Fael | 3R 1l HTEOT FA &
Faer 1l 3R 1l srgeRor & &
Fae | 3R 1l IFEOT A &
[T 3T

e @ 49 95 ) Fo 93 wsH

gl Tl ¥s% "ers

fse: | F& wgTs | gl

(A)
(B)
(C)
(D)

Il. $ WS AT T
l. T& 915 95 ¢

el | I IFEOT AT §
mllwmm%
E’fﬁﬂl"ﬂmm%
| 3R 1l QT IeTERoT aRd §

22
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83.

Statements: Some towels are brushes.
No brush is soap. All soaps
are rats.

Conclusions: I. Some rats are brushes.

Il. No rat is brush.
Ill. Some towels are soaps.

(A)  None follows

(B) - Only either | or Il follows

(C) Onlyllfollows
(D)  Only I and lll follow

83.

FUA:. Py difiT FA §l ' FA
A e §. ol A T ¥
forsehd: | o Tg 9 &
II. S IgT F 6T g
ll. F& AT e &l
(A) S ITEIT AT FIAT
(B) aer T @ | AT Il 3EROT I
&

(C)  aerer I 3THROT AT &
(D) dhaer | 3R Il 3FEROT A &

Question no. 84 to 86 In each of the following questions, a number sequence is given in which
except one of the terms in the sequence are alike. You have to find out the number which is odd
in the sequence. : - |
YA WEAT. 84 ¥ 86. URIF WA H TH HEAT HeThA Ream AT § A IHTHA A T F BEF
w3l g WA &1 ST 9 GEAT A HEA § A gEA A v g

84.  8,27,64,125,216 84. 8,27,64,125,216
(A) 27 (A) 27 |
(B) 64 (B) 64
(€) 125 (C) 125
(D) 216 (D) 216

85.  24,18,222, 82, 421 85.  24,18,222,82,421
(A) 18 (A) 18
(B) 222 (B8) 222
(C) 82 (C) 82
(D) 421 (D) 421

86 2.6,12,72,824 86. 2,6,12,72, 824
(A) 6 (A) 6
(B) 12 (B) 12 )
€ 72 @ 72
(D) 824 (D) 824

oo 23
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87.

88.

89.

“(A)

Rajesh walks 7 km to the north then
turns left and walks 3 km. Then takes
another left and continue walking this
time another 7 km forward. How much
distance in km is he away from the
starting point?

10 km
6 km
3 km
2 km

(B)
(€)
(D)

A group of 1200 persons consisting of
captains and soldiers is travelling in a
train. For every 15 soldiers there is one
captain. The number of captains in the
group is

(A) 85
(B) 80
(C) 75
(D) 70

An enterprising businessman earns an
income of Re. 1 on the first day of his
business. On every subsequent day, he
earns on income which is just double of

that made on the previous day. One the-

10" day of business, his income is

(A)
(B)
(€)
(D)

Rs. 29
Rs. 210
Rs. 10
Rs. 102

87.

88.

89.

qoer 7 feAl 3eaw @1 3R TAA §
ey ardt 3K #ger & 3K 3 T
e §1 f € 3R A AN FH A
7 fRer ET Tl Sy W g8
s fig & fell # feell g8 W

¥
(A) 10 fra.
B) 6 fra
© 3 fea
(0) 2 fwah

a3k A @ FEd

1200 =af¥Fqat &1 Uh GHE T oA H
AT F W@ gl IAE 15 RS W
TF Fed gar ol GHg H HeaEl S
TEAT &

(A) 85
(B) 80
(€ 75
(D) 70
UF 3eFAMS qq ™ 9y cuaay

& U A wh T Y 3w g
m%lmmﬁw'agm
T T § S B R R
qHT A A R e % 108 R

3T AT gredr §
(A) ¥ 29
(B) % 210
© % 10
(D) . 102

24
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90.

91.

A taxi driver commenced his journey
from a point and drove 10 km towards
north and turned to his left and drove
another 5 km. After waiting to meet a
friend here, he turned to his right and
continued to drive another 10 km. He

has covered a distance of 25 km so far,

but in which direction would he be

now?

(A)  North
(B) East
(C) South
(D) ~ West

Today is Varun’s birthday. One year
from today he will be twice as old as he
was 12 years ago. How old is Varun

today?

(A) 20vyears
(B)
(€)

(D)

22 years
25 years

27 years

90.

91.

()

WWW?K‘J‘G{?%@#M
I & dr AR 10 R 3eax i 3R
Tar 3R e a5 I AZH 5 A
R T TG T e ¥ B
SR FGT & G, 9§ AT ifeel
3R Az wr A 10 fRel R =
I g8 39 ab 25 fRAT T g A
HT T ¢, Aol 319 a8 fhE fawm 7
o .
(A) e
(B) g&
gfaror
(D) gfRes

WS T F TR § S d S
a¥ a1 3 7Y 12 I§ e B HY
@mﬁmﬁlmmﬁm
fereei &2
20 ¥
22 af
vzsa‘s‘r
27 a¥

(A)
(B)
(€)

(D)

25°
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92.

93.

94,

In a town, 65% people watched the
40%
newspaper and 25% read a newspaper

news on television, read a
and watched the news on television
also. What percent of the people
neither watched the news on television

nor read a newspaper?

(A) 5
(8) 10
(C) 15
(D) 20

Sumitra has an average of 56% on her
first 7 examinations. How much she

should make on her eighth examina'g'ion :

to obtain an average of 60% on 8
examinations?

(A) 88%

(B) 78%

(C) 92%

(D) 68%

A rectangular carpet has an area of -

60 sq. m. If its diagonal and longer side
together equal 5 times the shorter side,
the length of the carpet is

(A) 8m
(B) 12m
(C) 15m
(D) 145m

94,

g2,

923,

o el #, 65% e efifds s W
FATER @A &, 40% T FATEARN 9F
g & 3R 25% T WAER 9T 96
¥ 3y el o ol FAER 2T ¢

et e G A ar e W

FAER Ed ¥R 7 & @R ged
g2

(A) 5

(8) 10

(c) 15

- (D) 20

g‘iﬁmaﬂm‘%‘oﬁ7 qireT3it A
s 56% 1 8 wdemt F 3twad
60% 3iF Uit & & foIT 3d =T

3adt qlieT F Reael FAET aIfRe?
(A) 88% :

(B) 78%

(C) 92%

(D)

68%

Teh IAATHR FTel Al & TDeT 60 ot
e &1 afe s fawor AR S s
fAeH O oM & 5 Iem & W
B, o el T oars ¥

A sa&;

(B) 12 &

(C) 15 =

(D) 14.5 =

26
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Kim can do a work in 3 days while David
can do the same work in 2 days. Both of
them finish the work together and get
Rs. 150. What is the share of Kim?

(A) Rs.40
(B) Rs.60
(C) Rs.70
(D) Rs.75

In a certain code, ‘CONVENTIONAL’ is
written as

(A) TNEROHEMNTNE
(8) TNEORHMENTNE
(C) NTEROHEMNNTE

(D) TNE_ROHEMNNTE

Select the missing number from the

given responses.

(A) 64
(B) 121
(C) 81

(D) 100

‘NOCNEVOITLAN’. How is .
‘ENTHRONEMENT’ written in that code?

96.

97.

95.

fFH UH FA F 3 AT F F Fqhar
¥ wafy s 3@ F\ F 2 A+
H{ Fehal gl aal fATH wH IU
g ¥ 3R 150 I 91 gl fhA @t

Reear fhaeT 82

(A) % 40
() .60
€ =% 70
(D) %. 75

F BRaa #1 &, ‘CONVENTIONAL’

F ‘NOCNEVOITLAN' & w9 #H
frar et g1 3@ @S A
‘ENTHRONEMENT’ o @ Far
%‘? : :

(A) TNEROHEMNTNE
(8) TNEORHMENTNE
(C)* NTEROHEMNNTE
(D) TNEROHEMNNTE

RT T 3eel & ¥ gra FE W
TIT Y |

(A) 64
(B) 121
() 81
(D) 100

27
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98.

98.

100.

Select the missing number from the

given responses.

[ 98.

sreT @: WA g 3R aH

g H|

11\(77 21Y87 41\% ‘
88 108 148

(A) 97
(B8) 107
(C) 189
(D) 67

Complete the series:

81, 69, 58, 48, 39, ......

(A) 7
(B) 10
(c 22
(D) 31

Write the next number in the series:

(A) 14

(B) 27

(c) 81

(D) 36

99.

100.

(A) 97
(8) 107
(c) 189
(D) 67

STl ol I
81, 69, 58, 48, 39, ...

(A) 7

(8) 10
c 22
(D) 31

(C) 81

(D) 36

A
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PART-C: NUMERICAL APTITUDE

101.

102.

103.

104.

If five times the fifth term of an AP is
equal to seven times, the seventh term

of the AP, then what is the twelfth
term?

(A) -1
(B) ©
€ 1
(D) -2

If m is a positive integer and m’ is
divisible by 48, then what is the
minimum possible value of m?

(A) 6
(B) 9
(C) 12
(D) 24

Three candidates contested an election
and received 1136, .7636 and 11628
votes respectively. What percentage of

the total votes did the winning
candidate get?

(A) 57%

(B) 77%

(C) 80%

(D) 90%

The sum of four terms in an AP is 64.
The product of the extreme terms is
270. Find the first and fourth term.

(A) 14,28
(8) 10,22
() 28,14
(D) 6,30

101.

102.

103.

104.

afe foredr AP & Uieid 9¢ &1 9 37T,
AP & HIdd W& & FId AT & SR
¥, ol 9Rgdl 9& FAT §7?

(A) -1 |

(B) O

(€ 1
(D) -2

g m T UdATcHSD q‘\UIiE %' 3k m’ ,
48 ¥ oo g o m & FFAAH
HHT AT FT 87

(A) 6

(B) 9

() 12

(D) 24

& 3FEfieart A v o st AR
3¢ ®HA: 1136, 7636 3R 11628
mmgnmmﬁ@

AT T Fhc=T FTaRrd 9Ted §3m?
(A) 57%
(B) 77%
(C) 80%
(D) 90%

TF AP F TR Ul & AT 64 Bl
sifaA wal #1 UEAwA 220 gl gger
3Rk giar gg AT HifAT]

(A) 14,28

(B) 10,22

(C) 28,14

(D) 6,30

Q)

29
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105.

106.

107.

108.

If x and y are integers and x + y is even,

which of the following must be even?

(A)  x

(B) vy

(C) xy

(D) x(y+1)

The sum of place value and face value of
8in43836i.e.

(A) 88
(B) 808
(C) 880
(D) 888

The sum of natural numbers which are
divisors of 100 is

(AY
(B)
(€)
(D)

116
117
21

217

When % of a number is subtracted from

the number itself, it gives the same
value as the sum of all angles of a

triangle. The number is

(A)
(B)
(€)
(D)

224
210
140
120

105.

106.

107.

108.

(B)

afy x 3Ry i & 3R x + y @7
¥ ar Pefaf@a # ¥ &9 @ w7

g aTfRe?
(A) x

(B) vy

(C) xy

(D) x(y+1)

43836 & T A 3R 3fehd A

8 & AT 3uTa
(A) 88
808

880
888

(C)
(D)

39 WIed HEAHT T AT S 100 F
0T+ §,
(A) 116
(B) 117
() 21
(D) 217

m%mmﬁﬁwmm
a S B, G 95 P & @l s
® AN F AN A 9T adr B
HEAT &
(A) 224
(B) 210

(C) 140
(D) 120

30

215/260

@ Scanned with OKEN Scanner



216/260

A-12/4/2023-DD(HQ)-TPT-TPT

169376/2023/0/0 DD(HQ)-TPT

part-C: Numerical Aptitude

ANO7CGLT2023

T T HEATcHS A9gdr

109.

- 110.

113~

112.

A number when divided by a divisor
leaves the remainder 24. When twice
the original number is divided by same

divisor, the remainder is 11. The value
of divisor is

(A) 13
(B) 59
(C) 36
(D) 37

The breadth of a rectangle is 25 m. The
total cost of putting grass bed on this
field was Rs. 12375 at the rate of Rs. 15
per sq m. the length of rectangle is

(A) 27 cm
(B) 30cm
(C) 33cm
(D) 32cm

A common factor of [(41)43 + (43)“] and
[(41)" + (43)"] is:

(43-41)
[(41)* +(43)
[(41)* + (43)
(41+43)

(A)
(B)
(€)
(D)

41]
43]

If the areas of three adjaczent faceg of a
cuboidal box are 120 cm?, 72 cm® and
60 cm? respectively, then the volume of

box is :

(A) 820cm’
(8) 720 cm®
() 750cm’
(D) 850cm’

109.

110.

111.

132

THh T&IT F dAow O [Qefaa FH==
W AVE 24 qGAT §| S HA FE&A
FT GRET 38T ot § fAenfaid e
W AYET 11 1T g1 AT &1 AW
&

(A) 13

(B) 59

() 36

(D)

T ad @ diss 25 Hkew gl 39
A W O & fAER o9 A Fe
JeTa 15 T g @ty fr W b
12375 9 A, AT A €IS o
(A) 27 ¥

(B) 30 [T

(C) 33 J=Ar

(D) 32 ¥

[(41)® + (43)] and [(41)* + (43)"]
& U AT gvmzzrg -

(A) (43-41)

(B) [(41)* +(43)"]

(C) [(42)" +(43)*]

(D) (41+43)

I tF AR fSed & Al e
GadT T AFBd 120 § WAL,
72 2 3R 60 FAA: A, ar drrd
T AT &
(A) 820 @A
(B) 720 @Y
() 750 @Y
(D) 850 ¥’

31
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113.

114.

115.

i of 2 of —7— of 1664 is:
4 6 10

(A) 648
(B) 762
(€ 612
(D) 728

1 1

— part of a pencil is black and Py part of
remaining is white. If the remaining part
. .21

is blue and length of blue part is 3Ecm ,

then length of pencil is: ,

(A)  6cm
(B) 7cm
(C) 8cm
(D) 9cm

"The value of 0.142857+0.285714 is :

(A) 1
2
(B) 1
3
() 2
(D) 10

113.

114.

105

1664 & L FF 2FA %
10 6 4

(A) 648
(B) 762
(C) 612
(D) 728

%@m ®T Teh AT FTell § 3R

%me‘mﬁlaﬁﬁwmm

'%ﬁr.ﬁﬁmﬁm%mﬁa

ar e #r o &

(A) 6 e
(B) 7
© 8w
(D) 9 W

0.142857+0.285714 FT AT &:

(A)

Do | =

(B)

N w|~

(€)
(D) 10 -

32
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116. If a number is multiplied by three - | 116. afy fRd G a1 38 de-etaE @
fourth of i i
.ou of itself, the v:filue thus obtained o T ST, & 9red A 10800 ¥
is 10800, the number is: =
& &
(A) 210 (A) 210
(B) 180 (B) 180
(C) 120 (C) 120
(D) 160 (D) 160
117. Twice the difference between two 117. & FEaiit & f & AR & a’!ﬂ?ﬂ
numbers is equal to their sum. If larger IqF QT & W &1 Iy 99 e
beris 15, th th ber is: :
number is en another number is 15 & ar 3
(A) 12 (A) 12
(B) 10 (B8) 10
() s (€ 5
(D) 9 (0) 9
118. If the area of a regular pentagon is 118. zfe e @afAT vwie ToT T L ELTCH
12543 sq cm, then length of each side 1253 a9 Y & ar ylAs som
is: qars g
(A) 15cm (A) 15 Qe
(B) 16cm (B) 16 |#Y
(C) 10cm (C) 10 @+T
119, Three cubes of sides 1cm, 6 cm, 8 cm [ 119. 1 3771, 6 #3H, 8 AT g3 arer et
are melted to form a new cube. Half of At 37 RgdER UF 9T O g7
surface area of new cube is: STET &1 7 °A FT T WA TR
&
2
(A) 243 cm? (A) 243 @?:ﬁz
(B) 463 em? (B) 463 ﬁiﬁz
() 486 o (C) 486 @?ﬁz
() 493 cm’ (D) 493 AT
33
om . :
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120. ©& AR FT <OME 84 JAT § 3 g

120. The diameter of a roller is 84 cm and its
length is 120 cm. it takes 500 - SaTS 120 JFT &1 U Wl F HeT &l
revolutions to move once to level a X
TAdT S & T Th SR "o A
playground, then the area of playground .
is ' 500 TEERT A &, A Wl F Aq
FT &5 o
(A) 1632m° (A) 1632 #Hiex?
(B) 1584 m® (B) 1584 #HeX*
. (C) 1817 m? (C) 1817 #X
(D) 1532 m? (D) 1532 #HieT
121. A sum of Rs. 1521 is lent out in two | 121. 1521 g &T URY Hr ar #em HH
parts in such a way that the interest on YR 3UR AT Sar & fF U #JeT W)
one part at 10% for 5 years is equal to X = i
that of another part at 8% for 10 years. 5aw & ﬁﬂ' 10% =t = w N
What will be the two parts of sum? 9T 10 asf & AT 8% & cZIISI' &
SR @Y1 ART F Y AT HieT F gHEI?
(A) Rs.926 and Rs. 595 (A) ¥ 926 3R ¥. 595
(B) Rs.906 and Rs. 615 (B) . 906 3R %. 615
(C) Rs.916 and Rs. 605 (C) ¥ 916 3R %. 605
(D) Rs.936 and Rs. 585 (D) ¥. 936 3K %. 585
122. A person bought 8 quintals of rice for 122. Us <IFd o $o T9Ar H 8 fFacd
certain rupees. After a week, he sold arae @ler t'% e T
3 quintals of rice at 10% profit, 3 quintal o I " ¥ e,
of rice with neither profit nor loss and 3 . Taer 10%  ome W, 3
2 quintals at 5% loss. In this transaction, fFded g@ae o ar T AR 7 & g
what is the profit? W AR 2 fFged 9@ 5% g W
JAT| 3H AA-GeT H, T FAT §7
(A)  1.5% (A) 1.5% ‘
(B) 2% (B) 2%
(C) 2.5% (C) 2.5%
(D) None of these (D) 1 & @IS Gl
123. A merchant had 50 kg of pulse. He sells 123. U& ANy & 99 50 fRar e o
one part at a profit of 10% and other at TF ST T 109 :
5% loss. Overall, he had a gain of 7%. -;?r- 5% 10% @mer @ 3R
Find the quantity of pulses, which he v gl o ST g Sl THeITRT
sold at 10% profit and 5% loss. 3¢ 7% T FIAST g3 el fr AT
T AT, T 30T 10% a7 3R
5% gl 9 a=T|
(A) 40kg, 10 kg (A) 40 fre, 10 fFar
(B) 40kg, 15 kg (B) 40 fral, 15 fFer
(C) 40kg, 12kg (C) 40 fre, 12 fpear
(D) 40kg, 9kg (D) 40 fram, 9 fram
34 e
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124.  Whatis the unit digitin (3 x 6> x 77)? | 124. (3% x6*x7"") & g 3 7T & ?
(A) 6 (A) 6
(B) 4 (B) 4
. () 1

(D)

125. The sum of 5 consecutive even numbers 125. 5 HAET TH J&IH#t A, B, C, D

A, B, C, D and E is 130. What is the st E &1 aWr 130 &1 A 3R E @
product of A and E?

Ww%?
(A) 720 (A) 720
(B) 616 (B) 616
(C) 660 (C) 660
(D) 672 : (D) 672

'126. Ifa number'is exactly divisible by 11 and 126. g w5 wear 11 i 13 @ q:ﬁa;

13, which of the following types the ResT ¥ & a dear PR &
number must be? . i s et

(A) Divisible by (11 +13) (A)  (11+13) & s

(B) Divisible by (13-11) (B) (13-11) & A=y

(C) Divisible by (11x13) Q) (11x13) I R

(b) Divisible by (13 + 11) ' (D) (13+11) & fasrs™

The LCM of two numberé is 20 times of 127. a‘r FEAT3HT &7 LCM 379 HCF &r 20

127.
their HCF and (LCM + HCF) = 2520. If one a1 & 3T (LCM + HCF ) = 2520 |
number is 480, what will be the triple of afe ww dEar 480 , ar 3{\“'& T
mber?
another nu a1 T 7T .
(A) 1200 (A) 1200
(8) 1500 (B) 1500
(C) 2100 G 7100
(D) 1800 (D) 2800
= 35
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128.  The pair of numbers which are relatively | 128. FEHT & d§ T7H I Th g@x &
prime to each other is: TR IS &

(A) (68, 85) (A) (68, 85)
(B) (65,91) (B) (65,91)
(C) (92, 85) (C) (92,85)
(D) (102, 153) (D) (102, 153)

129.  Moving g of its usual speed a train is | 129. 319l AR W & g Iy F oA
10 min late. Find its usual time to cover el T o 10 Bee i & Todr gl
the journey. aET T - = TET

i) |
(A)  25min (A) 25 fAeCT
(B) 15 min (B) 15 fA=c
(C) 35min - (C) 35 fAsie
(D) 60 min (D) 60 A=

130. The HCF of (x3 - x*- 2x) and (2 + x?) is: 130. (¢=x2-2x) 3R (x*+x?) & HCF & :
(A)  x3-x*-2x | (A)  x3-x*-2x
(B) X2 + X (B) X2+ X
(€) x*x3-2x2 (€ x*-x*-2x?

(D) x-2 (D) x-2

131. How many three-digit numbers are 131. @Y frgelr T 3P gEae ¥ ey
there which increases by 396 when the Te 3R 3R 3F F waE
first and last digit of the number is =
interchanged? 396 E!-% B ©2
(A) 57 (A) 57
(B) 50 (B) S0
(C) 45 (C) 45
(D) None of the above (D) AN q FIS o et

36 P
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132.

133.

134.

135.

A five-digit natural number s
considered and is divided by the sum of
the digits of the number. What can be
the highest possible ratio?

(A)
(B)
(C)
(D)

2222.2
9090.9
9999

10000

If an eight-digit number 537867AB is
divisible by 6 or 7 or 9, then what is the
value of ordered pair (A, B)?

(A)
(B)
(C)
(D)

(3, 6)
(9, 6)
(7,2)
(5, 4)

A merchant mixes water in purest form
of vinegar and sells it at the cost price. If
he sells 2 litres of the mixture at Rs. 110
and gains 22.22%, find the quantity of
water in it before selling?

36379 ml
363711 ml
364611 ml
33679 ml

(A)
(B)
(C)
(D)

The average of five consecutive positive
integers is M. If each term is decreased
by 2 and five consecutive integers of the
old series are included, then the new

average is

Increased by 1.5
Increased by 0.75

(A)
(B)
(€
(D)

Decreased by 1.5
Average remained the same

132.

133.

134.

135.

a3 AT TS Wipfde wear 3R
W T FEA & A F AT @
fasnfora fmam Sam 81 Seude dafaa
AT &7 &1 Ahell &7

(A) 2222.2

(B) 9090.9

(C) 9999

(D) 10000

537867AB T&F 3S 3l I TEAT §
sr6ar 7 ar 9w fQosa g a
AT TIA (A, B) &T AT T 87

(A) (3,6)
() (9,6)
€ (7,2
(D) (5, 4)

U T R & YedH T H =
Ao aRa e W oar &1 af
ag 2 e AHoT 110 39T A S9dr §
AR 22.22% @1 W WITT HIT &, ar
U § Ugel SHH Ul hr AMET AT
H|

(A) 36379 Tl
(B) 363711 f&.efr
(C) 364611 A
(D) 33679 A

9T FARE GRS QUi @ sied
M gl I 9% U Fr 2 & "er 2
ST HR R S@er & dig HANE
quitehl @1 enfAe & fer e, ar s
T &

(A) 1.5 #r 3f& &3

(B) 0.75 #r 3f& &%

(C) 1.5 #r ol g%

(D)  3¥Fa @gr IeT

37
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136.

137.

138.

1:39;

The

Unit's digit of the

given

expression78>>%2 x 56256 x 971250;c.

(A)
(B)
(C)
(D)

6
5
4
3

Each face of a cube can be painted in

black or white colour. In how many

different ways can the cube be painted?

(A)
(B)
(€)
(D)

10
11
12

What will belthe remainder if 468 is
divided by 192?

(A)
(B)
(€
(D)

16
49
64
21

Let N = 3029282726..4321 be a larger
number. What will be the remainder
when N is divided by 9?

(A)

(8)

(C)
(D)

N N o n

136.

137.

138.

139.

R 77T Aoh 785 x 567 x 9770 Hy

ZHS HT IF o

(A)
(B)
(C)
(D)

6

5
4
3

T & UAF Fod Hl el AT g

T & T ST Ghal gl g @ fohdaa

et TR { T ST T 87

(A)
(B)
(€)
(D)

9.

10
11
12

afe 468 A 192 ¥ R(mfST fFar so
ar AYH FIT g

(A)
(B)
(€)
(D)

16
49
64
21

AT N = 3029282726..4321 uF CEl

G 81 99 N &7 9 ¥ Rrsnfara R
ST AT ANEAT F47 g

(A)
(B)
(C)
(D)

5

6
7
8

38
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Two vessels are filled with diluted
sulphuric acid, not up to the brim.
Vessel A has sulphuric acid and water in
the ratio 4 : 1 and Vessel B has water
and sulphuric acid in the ratio 3 : 2. If
twice of the volume of the sulphuric
acid solution in Vessel A is thrice of that
of vessel B, then what will be the
concentration percentage of sulphuric
acid in the new vessel C, where both the

vessels’ solution are mixed up?

(A) 65%
(B) 72%
(C) 78%
(D) Cannot be determined

{(476+424)* —4x476x424}=2

2906
3116
2704
2904

(A)
(B)
(C)
(D)

If 60% of —31 of a number is 36, then the
5

number is:

(A) 80
(8) 100
€) 75
(D) 90

140. & 9T oo HeHIRH TS F W §U

141.

142.

g W AR aF A Tad A A
FerRE TRs 3R aE @ e
41 ¢ 3 a7 B # uer 3R
W@EWWS:Z%IU%
1 A TR RS o AT
F NE, SO B & A F A
T &, A AT T C A FORRS
oS 1 WEOT wiawd F4T gem, STel
aﬁ:ﬁaﬁa"rwﬁammw%‘?
65% N

72%

78%

aa gt foRar S FeRdr

(A)
(B)
(€)
(D)

{(476+424)* —4x476x424}=?

2906
3116
2704
2904

(A)
(B)
(C)
(D)

uﬁﬁ»‘mma?%wso%ss’e‘,

dr 9% & &

(A) 80

(8) 100 ,‘
(C) 75

(D) 90

39
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143. A rectangular courtyard 3.78 meters | 143. 3.78 Hlex o 3K 5.25 #iex i3 uh
long and 5.25 meters wide is to be WAAHR  HoT  H Aeper  HAW
paved exactly with square tiles, all of Y

’ HFR PR TrEal § gaRr fHar
the same size. What is the largest size of _ ol :
the tile which could be used for the ST g1 TTSel HT HEH F37 3 ==l
purpose? ¥ e 399 39 32T & fav fhar
ST Hehell 82
(A) 14 cms (A) 14 |=T
(B) 21cms (B) 21 ¥#Y
(C) 42cms (C) 42 @t
(D) None of these (D) =T @ S 7T

144. When 0.36 is written in simplest 144. F9 0.36 I F{AdH P=cqdd T H
fractional form, the sum of the Rrar smar & ar sier iR & T AT
numerator and the denominator is?

- gldr 87
(A) 34 (A) 34
(B) 45 (B) 45
(C) 114 () 114 ’
(D) 135 (D) 135

145.  Which is the closest approximation to 145. 34 0.3333 x 0.25 x 0.499 x 0.125 x
the product 24 &1 PFcaH FiedAded BT ar 32
0.3333 x0.25 x 0.499 x 0.125 x 247
(A) 1 - (A) 1

8 8
(B) 3 (B) 3.
4 4
© 3 © 3
8 8
@ 2 () 2
5 5
40 >
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147.

148.

149,

150.
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HTST T AEATeHF QgaT

Given 168x32 = 5376, then 5.376+16.8
is equal to

(A) 0.032

(B) 0.32

(C) 3.2

(D) 32

The value of (67'542)2 — (32'458)2 e
75.458 - 40.374

(A) 1

(B) 10

(C) 100

(D) None of these

The population of a town increased
from 1,75,000 to 2,62,500 in a decade.
The average percent increase of
population per yearis

(A)  4.37%

(B) 5%

(C) 6%
8.75%

(D)

860% of 50 + 50% of 860 = ?

(A) 430
(8) 516
(C) 860
(D) 960

Rs. 1210 were divided among A, B, Cso
that A:B = 5:4 and B:C =9:10 then C gets

Rs. 340
Rs. 400
Rs. 450
Rs. 475

(A)
(B)
(€
(D)

146.

147.

148.

149.

150.

168 x 32 = 5376 f&4T @T &, ar
5.376 + 16.8 &_TX g

(A) 0.032

(B) 0.32

(C) 3.2

(D) 32

2
(67.542) —(32.458) —
75.458 —40.374
(A) 1
(B) 10
(C) 100

(D) 7ot & IS QT

THF CUF H Tadh gL I JA9Edr
1,75,000 ¥ sgaY 2,62,500 & S|
ufa af S # Jea gfaerd gig
T

(A) 4.37%

(B) 5%

(C) 6%

(D) 8.75%

50 T 860% + 860 T 50% = ?

(A) 430
(B) 516
(C) 860
(D) 960

%. 1210 &1 A, B, C & 919 3H YHR
famfaa o ar & AB = 5:4 3R
B:C = 9:10 ar C I gIar &

(A) = 340

(B) . 400

(C) . 450

(D) =. 475

41
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PART-D: Ge_neral English

Read the following passages carefully and 7 151. What according to Aristotle was the

answer the questions given below. : im of education?

Aristotle considered human nature, habit and migaateaim o ECUSERoEE

reas.on to be equally important Aforces to be (A) Cultivate habit of human nature
cultivated in education, the ultimate aim of

which should be to produce good and virtuous .

citizens. He proposed that tfachers lead their (B) Systematically tgachiers ;. [E2C
students systemétically, and that repetition be students to good habits

used as a key tool to develop good habits,

unlike Socrates' emphasis on questioning his . (C) To produce righteous citizens
listeners to bring out their own ideas. He :

emphasized the balancing of the theoretical (D) To bring out students own ideas

and practical aspects of subjects taught, among
which he explicitly mentions reading, writing,
mathematics, music, physical education,
literature, history, and a wide range of
sciences, as well as play, which he also 152. The word ‘Renaissance’ is derived from

considered important.
the —— language.
During the Medieval period, the idea of guag

~ Perennialism was first formulated by .
e : o (A) English.
St. Thomas Aquinas in his work "De Magistro™.
Perennialism holds that one should teach those (8) Italian
things deemed to be of everlasting importance
to all people everywhere, namely principles ]
) X . (C) Latin
and reasoning, not just facts, which are apt to
change over time, and that one should teach (D)
first about people, not machines or techniques.
It was originally religious in nature, and it was
only much later that a theory of secular
perennialism developed.

French

During the Renaissance, the French skeptic 153. Skeptic is a person
Michel de Montaigne (1533 - 1592) was one of _
the first to critically ‘look at education. (A)  Whoiis rational in thoughts
Unusually for his time, Montaigne was willing |
to question the edifice wisdom of the period, (B) Who denies the possibility of
calling.into question the whole edifice of the
educational -system, and the implicit
assumption that  university-educated
philosophers were necessarily wiser than
uneducated farm workers, for example.

knowledge
(C)  Who believes in rational thinking

(D) Who accepts knowledge of all types
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154. Perennialism was first developed by

155.

(A)
(B)
(€
(D)

Aristotle

Plato
Thomas Aquinas

Michel de Montaigne

Explicitly is antonym of-

(A) Overtly

(B) Implicitly

(C) Utterly

(D) Impishly

Read the cloze passage below and choose the

best answer:

Jeans have become one of the most worn
pieces of clothing in the world. Everybody
— ) them, from the rural
farmer to the urban lawyer and from

models to housewives. But why have

jeans become so — 2 3vou'll get

many answers. For some people they

B
look cool, for jeans are

simply comfortable. Jeans were first
designed __ (4 durable trousers
for farm workers and miners in the states
of the American west. A Nevada tailor,
Jacob Davis, had the idea of using copper
bolts at the corner of the pockets to
make them stronger. They became

popular ___ () and soon many

people bought them.

156. Choose the best answer for (1).

157.

158.

159.

160.

(A) wears
(B)
(C)

(D)

are wearing
was wearing

will wear

Choose the best answer for (2).
(A)
(B)
()
(D)

popular
outdated
expensive

infamous

Choose the best answer for (3).

(A) another
(B) theothers
(C) others

(D) the other

Choose the best answer for (4).
(A) for
(B)
(€)

(D)

Choose the best answer for (5).
(A)
(B)
(€)
(D)

vaguely
instantly
slowly

comfortably
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Find the correct synonyms for the given

words.

161. SUMPTUOUS
(A) Delirious
(B) Gorgeous
(C) Perilous

(D) Luxurious

162. INSCRUTABLE
(A) Difficult
‘(B) Mysterious
(C) Inflexible

(D) Wary

163. LOQUACIOUS.
(A) Talkative
(B) Thirsty
(C) - Beautiful

(D) Complicated

164. TEMERITY
(A) audacity
(B) fearfulnéss
(C) shyness

(D) stupidity

Find the correct antonyms for the given

words.

165. LUMINOUS
(A) clear
(B) dim
(C) brittle

(D) clever

166. AWE
(A) borrow
(' B) shallow
(C) low

(D) contempt

167. ROTUND
(A) round
(B) unimportant
(C) thin

(D) dull

168. MALODORQUS
(A) acrid
(B) pungent
(C) fragrant

(D) delicious

44

@ Scanned with OKEN Scanner



A-12/4/2023-DD(HQ)-TPT-TPT

169376/2023/0/0 DD(HQ)-TPT

part-D: General English

ANO7CGLT2023

T : IATT TSl

Rewrite the following sentences in indirect

speech:

169. | said to my classmate, "Please lend me

170.

your cycle."

(A)

(B)

(C)

(D)

| ordered my classmate to lend me

his cycle.

-

I advised my classmate to lend me

his cycle.

| ' requested my classmate to lend

me his cycle.

| forbade my classmate to lend me

his cycle.

Daman says, ‘Priya is working in

Ahmedabad.’

(A) Daman say that Priya was working
in Ahmedabad.

(B) Daman said that Priya was working
in Ahmedabad.

(C) Daman said thavt Priya works in
Ahmedabad.

(D) Daman says that Priyais working in

Ahmedabad.

171. The teacher said, "What is the matter?"

(A)
(B)
(€

(D)

172.

(8)
(€)

(D)

The teacher asked what the matter

is.

The teacher asked what the matter
had been.

The teacher asked what was the

matter.

The teacher asked what the matter

was.

| said to my friend, "Can you swim"?

A

| asked my friend whether he could

swim.

| asked my friend whether he can
be swim.
| asked to my friend whether he can

swim.

| asked my friend whether could he

be swim.

173. She said, "l am coming just now."

(A)

(B)

(€)

(D)

She said that | was coming just
then.

She told that she has been coming
just then.

She said that she is coming just

now.

She said that she was coming just
then.
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174. (A)
(8)
()
(D)

175. (A)
(B)

(C)

(D)

176. (A)
(B)
(C)
(D)

177. (A)
(B)
(€
(D)

178. (A)
(B)
(C)
(D)
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Referigerator
Refridgerator
Refrigerator

Refriderater

Parliamentery
Parlimentary
Parliamentary

Parlamentary

Recedeing
Reeceding
Receeding

Receding

Beligrent
Belligerent
Belligrent

Beligerent

Beguele
Beiguile
Baguile

Beguile

Find the misspelt word.

179. (A)
(B)
()

(D)

180. (A)
(B)
(C)

(D)

181. (A)
(8)
(C)

(D)

182. (A)
(B)
(C)
(D)

Advocacy
Aristocracy
Democracy

Courtecy

Surveillence
Stupefaction
Preferential

Detrimental

Recommend
Alluminium
Cemetery

Satellite

Radiant

Salient

Valiant

Brillient
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184.

185,

186.
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A hater of knowledge énd learning:
(A) Bibliophile
(B) Philologist
(C) Misogynist

(D) Misologist

Commencemerit of words with the same

letter .

(A) Pun

(B) Alliteration

(C) Transferred epithet

(D) Oxymoron

A sad song:

(A) Ditty

(B) Knell

(C) Dirge

(D) Lay

A person who loves everybody:

(A) Cosmopolitan
(B) Fratricide
(C) Altruistic

(D) Aristocrat

187. One who cannot be easily pleased-

(A)
(B)
(€)
(D)

Fill in

Cosmopolitan
Frightening
Fastidious

Feminist

the blanks with appropriate

prepositions:

188. She succeeded —— — dint of

perseverance and hard work.

(A) with
(8) by
(C) to
(D) for
189. Birds were seen moving ——  one -

place to another place

change of seasons.

(A)
(B)
(€)
(D)

“to, with

from, with
from, for

with, for
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190.

191.

some loss of

He hinted
treasure.
(A) at

(B) for
(C) on
(D) with

She has not read anything

Monday.
(A) from
(B) for
(C) on
(D) since

In the following questions, a sentence has

been given in Active/Passive Voice. Out of the

four alternatives suggested, select the one

which best expresses the same sentence in

Passive/Active Voice.

193. Who is creating this mess?

(A)
(B)

(€)

(D)

Who has been created this mess?

By whom has this mess been

created?

By whom this mess is being
created? '

By whom is this mess being
created?

194. The boy laughed at the beggar.

(A)
(B)

(€)

(D)

The beggar was laughed by the boy.

The beggar was laughed at by the
boy.

The beggar was being laughed by
the boy.

The beggar was being laughed at by
the boy.

They drew a circle in the morning.

A circle has been drawing since

In the morning a circle have been

A circle was being drawn by them in

A circle was drawn by them in the

192. | remember my sister taking me to the 195
museum.
(A)
(A) | remember | was taken to the
museum by my sister. ‘morning.
(B) | remember being taken to the (B)
museum by my sister. drawn by them.
(C) | remember myself being taken to (C)
the mu b ister.
seum by my sister the morning.
(D) | remember taken to the museum D
by my sister. (O)
morning
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Fill in the blanks with fhe correct modals.

196. You pay for the damage
done! )
(A) could
(8) would
(C) dare
(D) should
197. We to do a lot of work

198.

before the event starts.

(A) would

(B) need

(C) having

(D) are

| go and check the

arrangements downstairs.

(A) should

(8) would ‘
(C) might

(D) can

In the following questions, the inderlined_

part of the sentence may need improvement.

Below are given alternatives which may

improve the bold part. Choose the correct

alternative.

NOTE: In case no improvement is needed, your

answer is No Improvement.

199. ‘With no rain_and’ any access to clean

200.

water many farmers will lose their crops.

There is no rain and no

(A)
() Without rain and nor
Without any rain or

(€
(D)

No improvement

When she regained consciousness she

was ‘stretched in the ditchout’, soaked to

the skin.
(A) outin the ditch stretched
(B) on the ditch outstretched
(C) outstretched in the ;ditch

(D)

no improvement

Qv
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REVISED ANSWER KEY
1. C 41. B g81. C 121. D 161. D
2. C 42. D g82. C 122. C 162. B
3. B 43. B 83. B 123. A 163. A
4. A 44. A 84. B 124. B 164. A
5. A 45. A 85. C 125. C 165. B
6. C 46. C 86. D 126. C 166. D
7. D 47. A 87. C 127. D 167. C
8. A 48. A 88. C 128. C 168. C
9. A 49. C 89. Deleted 129. D 169. C
10. A 50. C 90. A 130. B 170. D
11. B 51. A 91. C 131. B 171. D
12. € 52. D 92. D 132. D 172. A
13. A 53. D 93. A 133. D 173. D
14. B 54. B 9. B 134. B 174. C
15. A 55. D 95. B 135. A 175. C
16. B 56. A 96. B 136. A 176. D
17. A 57. A 97. C 137. B 177. B
18. D 58. C 98. B 138. Deleted 178. D
19. Deleted 59. B 99. D 139. B 179. D
20. B 60. B 100. A 140. B 180. A
21. °C 61. D 101. B 141. C 181. B
22. C 62. C 102. C 142. B 182. D
23. B 63. A 103. A 143. B 183. D
24. C 64. C 104. B 144. A 184. B
25. D 65. A 105. D 145. A 185. C
26. D 66. D 106. B 146. B 186. C
27. C 67. B 107. D 147. C 187. C
28. C 68. C 108. B 148. B 188. B
29. B 69. C 109. D 149. C 189. B
30. B 70. C 110. C 150. B 190. A
3. D 71. C 111. D 151. C 191. D
3. B 72, A 112. B 152. D 192. B
33. C 73. Deleted 113. D 153. B 193. D
34. B 78. A 114. C 154. C 194. B
35. A 75. D 115. A 155. B 195. D
36. A 76. B 116. C 156. A 196. D
37. C 77. D 117. C 157. A 197. B
38. B 78. B 118. C 158. C 198. A
39. B 79. C 119. A 159. B 199. C
40. D 80. C 120. B 160. B 200. C
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